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[NEW SYLLABUS ]

[FIRST HALF ]
( Statistics-11)

[ Marks : 45
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GROUP - A
1. Answer any five questions : 2x5
(@) What is probability density function ?

(b) Inasingle cast with two dice find the chance
of the sum of twa resuits will be '7'.

(¢) What do you mean by population and sample
in statistical analysis ?

(d) Write two major defects of clé.ssical definition
of probability.

(e) Define Random variable.
(f) Write two advantages of multi-stage sampling.
(g) Define Null hypothesis.

(k) Write the properties of a good estimator.

GROUP - B

Answer any three guestions : 5x3
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Evaluate E(X%) for the following density
function :

[ X, O0<x<l
f(x)=42-X, 1<x<2
0, elsewhere

Let A and Bbe two independent events. Then prove

~ that A and B are also independent.

If X and ¥ are two independent random variables
then prove that

Var (X + ¥) = Var (X-Y).

Distinguish between SRSWR and SRSWOR in
sampling theory. '

Write the p;roperties of binomial distribution.

It is given that 3% of electric bulbs manufactured
by a company are defective. Using Poisson
approximation, find the probability that a sample
of 100 bulbs will contain (i) no defective,
(ii) exactly one defective. 2+3
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GROUP —C

Answer any two guestions : 10x2

State and prove the Bayes' theorem of probability.
Explain in this connection the concepis of prior
and posterior probabilities. 5 4.5

What are the impertant properties of normal
distribution ? In such a distribution with mean
value 5 and variance 2, evaluate p ((x|<3),
given that

J2 ' ;
'[f(z)dz'z(r-éﬁ}'. 5+5
0

Find the expectation and standard error of sample
mean in SRSWR. 10

11. X is a discrete random variable having the

following probability mass function :

X 012 3 4 5 6 7
P(X=x): 0 k 2k 2k 3k K 28 7T+

(i} Determine the constant &.

(/ij Find the value of P(x < 6). 545
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{ SECOND HALF]
{ Development Economics )

[ Marks : 45 ]

GROUP - A
1. Answerany five questions : 2x5
" (a) WhatisPQLI? o
(b) What is vicious circle of poverty ?
(¢) What is population explosion ?

(d) Define the gender related development index
(GD1). -

{e) Defire sustainable deveiopment.
{f) What is foreign direct investment

~(g) Mention two functions of International
Monetary Fund (IMF).

' (h) Write the different sources of Domestic
capital formation.
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GROUP - B

-

Answer any three questions : - 3x3

Distinguish between economic growth- and
economic development. 3

Explain the marginal per capita reinvestment
criterion for project choice. 3

Why is women's education important for economic

development ? — Explain. 5

What do you mean by social dualism 7 5

Evaluate the strategy of balanced growth. 5

What are the important functions of World

Bank ? t 5
GROUP - C

Answer any two questions : 10 x 2

Explain the gender empowerment measure
(GEM). 10
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9 Analyse the two sector 'Lewis model' of economic
development of the developing country, 10

10. Evaluate the Rostow's theory of stages of economic
" growth. 10

1!1. Discuss the dual-gap theory of foreign Aid. 10
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